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Ho.oke's Law in Compliance Form
| . MIN 7¢ NNRY'NN NYNLN

By conventlon, the 5 elastic constants in transverse isotropic constitutive equations
are the Young's modulus and poisson ratio in the x-y symmetry plane, E; and vp, the Alon
Young's modulus and poisson ratio in the z-direction, Epz and vpz, and the shear —
“modulus in the z-direction Gzp. )
Transverse Orthotropic
The compliance matrix takes the form,
[ 1 v v
2o oy s
Ep Ep E,
v 1 Vz
: e _E{ R -0 0 0
Xx r p By o x
£y Yoz  Vpz 1 0 0 0 Sy
Epz Oz
Ezy 2Gzy Ozx
£ o
ol o 0 o ! V]
ZGzp
1+
0 6 0 0 0 i
Ep |
" v
where £ = =2 .
E, & 11
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ANSYS m1m mrtva G avin nnni 0.3=v min .E; ,E; 1m no
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9 8 7 6 5 4 3 2 1 TIn 'on
7048 6728 5922 5051 4438 3064 2559 1571 790 9N
I9NUVIT'N
milJL)
7461 6856 5613 5298 4639 3161 2727 1597 799
I9NMNUVUININ
-2 7T7an

5.9 19 +35 +49 +45 +3.2 +6.6 +1.7 +1.1 o
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NODAL SOLUTION Jum 18 2012 NODAL SOLUTION MAR 4 2012
DS i EOX 1018738
sUB =1 B =1 e
FREQw799.793
FREQ=790.973
o avel usuM (ave)
DMX =5.794 RSYS=0
0x =5.794 DX =5.768
SMX =5.768
o 1.200 2.515 3063 515 p—
64375 1931 3.219 4.506 5.798 2 D282 B 5€3 T 127

. 640839 1.923 3.204 4.486 5.768

NODAL SOLUTION [ AN
JUN 18 2012 |
sTERay 10:06:26 MI0A=;BOEEICH MAR 4 2012
suB =2 10:21:08
FReEQu1598
vsoM  (ava)
RSYS=0
DMX =6.003
Pix =6.003
1. "336
666962 2.001 3.335 4.669 5.003
0 1.379 2.759 4138 5.518

. 689749 2.069 3.449 4.828 6.208

NODAL SOLUTION AN
Jom 18 2012
stEpmy 10:07:57 DAL SOLUTION MAR 4 2012
B =3 10:26:54
FREQe2727
(avo)

RSYS=0
owx =10.970
Px =10.978

3 TIn

o)
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p—
o 2.462 4.923 7.385 9.847
1.231 3.693 6.154 8.616 11.078
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